Polynomial Graph Analysis

Assume it goes up by ones.

1) x-intercept(s)/zeros:

-2,4,3
-3

3) Is the graph a function? Lrs

2) y-intercept:

4) Domain (interval notation): ( -, oo)

5) R?mge (interval notation): E %’ w} 3

6) For what xvalue(s) does f(x) =0 ?

=

~2.]
"3

9) Where is the graph increasing (interval

ri@ytation)? (__ 11 ﬂ (25/ 00)

] 1: i
7) Find £ (2) .

8) Find £ (~1) .

10) Where is the graph decreasing (interval

notation)? ( |’2_S> (.-w' _ i‘}

11) How many times does the line x=2
intersect the graph? A

12) For what approximate x values does

Sx)=42?
g 3.5 2.2

13) Find f(-1) - £(2) .
_.X__-l'z ¢

14) Find 3 (1) .

16-@

15) Describe the end beh
)(—-) -o0

/gaoo s> 0

16) What is the average rate of change on
the ingerval SO 1)? /5

0,-



) o amtoroepiis )

-3 02%,5

2) P AmIoToOp % I

3) 1s the graph a function®

Ea

1) Domam (usc miorval notaton ).
(~20,20 )
31 Range (usc sgt bunlder notation )
yl ye Qf
o) For what x valweis) does f(x)=07
:;' -3,a.5,§
7) Whore s firy<0?
Coo,-D) (25,%)
£) Where weitrieg ?
-3,25) (5,202

N Fmdf(2).
o-6b

10)Findf(-2). . 3¢,

1) Where is the graph mcreasing’
(’“,"\ - (“0 d
12) Where 1s the graph decreasing’

(-1, 4)

13) How many times does the line y = 2

intersect the graph”
At ?iGMJ 3 ""“J“

three
14) For what x values does f(x) = 47
-, =~ xS
15) For what x values does f (x) = ~17
= -3.1 , =39 .-

16) Find f(~1) - £(2) .
4-0%=3-5
17) Find 3 /(1) .
3.1.‘ e LS
18) Describe the end behavior.

As xdoe, Yl

AS X -MM" -
19) List any relative maximums and
minimums on the interval [-3, 5]

Max 4
Mia =t



